(5 COMMAND ACCESS

Installation Instructions
PD15-M / PD16 CVR Exit Device

Read all instructions completely before beginning.



Step #1

Prepare lock stile.

BOLT GUIDE LAYOUT

LH KRB
-
—~——————/FADING FDGE OF DOOR STILE ‘4>
~—1.5
j—— 1.3
—={ 094 1.49 =
—m (0.74 ! 0.73 fw—-—o

0.4680

j
Py ail]

0.5620

——

1B
)

—= 112 =

N
w
|

|
1710

3 pLac
T @Y | e usne ook,
DRILL & C'SNK FOR
832 FHIS

[ \‘\

T 17 I T s
1.4000 | : 12-2t (8) : © abes
‘ A P i % ‘

0.4290 FNT
\
|

!

&
@
_F

P
— {0 G —
—= 1.4948 +—

38-7/8 (987) From Bottom of ——gem|

Door to Center Point.

=~ 1.7068=



Step #2

Install Rod & Case assembly into active stile.
Secure with 2 ea. 8-32 x 1/4 cap screws.

A
=

Active Stile

Install spacer per drawing.



Step #3

Install Top & Bottom Strikes.
Secure with 2 ea. 8-3/4(19) self tap screws.

S

/A

/ Active Stile
©




NOTE: If trim or cylinder are

not being used, skip this step. Step #4

Install Trim and Cylinder.

Install one 8-32 pan head screw partially to suit nominal wall thickness of 1/8” or 3/16”
Install pad assembly and rotate clockwise until it locks into position. Install single
8-32 x 1-15/16” screw and tighten.
NOTE:
Use 8-32x5/16 pan head on 1/8” wall thickness
Use 8-32x5/3/8 pan head on 3/16” wall thickness

REQUIRED CYLINDER

1" MORTISE WITH CAM PROFILE AS SHOWN S
BELOW.
.18/.19(5/5)

.562(14)_500’(20) OF _CYLINDER
S M
t ®®
625(16) o )
SCREW  NOTE (5)

’" / ~
~
.

LOCK CYLINDER
(SUPPLIED BY OTHERS) ~.

_LOCK CYLINDER
MTG. PAD & LOCK RING

ROD & CASE ASS’Y /

m Active Stile \

£



Step #5

Panic Attachment.

- Remove front and rear end base covers by releasing 6-32x3/16(5) & 12-24x1-1/4(32) fillister head
screw through chassis and one 8-32x1-1/4 head machine screw, secure inactive end with single
1/4-20x1/2(13) round head machine screw (phil.) with semsthrough inactive base plate.

- Using the wire access hole as a guide, drill a 3/8" hole into the inactive stile to allow for wire

access.
- Proceed by re-installing base cover on each end of panic base.

WIRE ACCESS HOLE
(for PD15 only)

BASE PLATE
INACTIVE COVER

ACTUATOR  LINK—

4

PANIC TOUCH BAR

LHRB (SHOWN)

8-32x1—1/4 SOC. HD. MS.

NOTE: or for heaver wall extrusion
use 8-32 x 1 3/8 SOC HD MS




Step #6

Adjust Top & Bottom Bolts.

Adjust Top & Bottom Bolts allowing for 1/2"(13) of bolt to extend from vertical stile.
Install bolt guides top & bottom with (2) each #10x1/2(13) flat head self-tapping screws.
Depress push bar, top bolt should lock in the retracted (unlocked) position. If locking does not
occur readjust bolts in half turn increments until locking occurs. Verify operation by fully depressing
touch bar to achieve dogging or full retraction of bolts.
Top Bolt Adjustment:
Release top and bottom bolts by depressing trigger on top bolt guide assembly.
Position top bolt 1/2°(13) from top edge of active stile.
Bottom Bolt Adjustment:
Fully depress push bar, retracting top and bottom rods. Adjust bottom bolt per detail “B”
Manual Check:
With top and bottom bolts fully retracted, depress trigger release, rods will then extend to the locked position.
Install trip bracket and adjust set screw so that when door closes, top bolt guide trigger contacts set
screw and allows bolts to extend.

Active Stile




(3 COMMAND ACCESS

ELECTRIFIED EXxiT DEVICE

INSTALLATION EXAMPLE

Optional Module /CAT CHANNEL 1 \

Placement POWER .
SUPPLY A
““\ " ", NIONc -?u -.—[
“\“\‘\\ odule "lll,""
Ceiling Tile | S K ? !
] ]

[ 7 7 7 7 =Tl

DRY CONTACT FROM

ACCESS CONTROL
SYSTEM I |
— NO VOLTAGE

LOCKING

\\ HARDWARE /

I I
T

H-

CONTROLLER

CARD
T 1T READER
T (exterior)
Module I
POWER A/,\
TRANSFER N
PRODUCT T Legend
Standard Placement
Optional Placement
T~

\_/\ _

REcOMMENDED POWER SUPPLIES:
All Command Access exit devices & field installable kits have been thoroughly cycle tested
with Command Access power supplies at our factory.

For more information click here or go to our website




COMMAND ACCESS

T ECHNOTLO G I

MM4

TECHNICAL INFORMATION

SPECIFICATIONS

~ MM4 Switches

e Input Voltage: 24VDC +/- 10% .
e Average Latch Retraction Current: 1.3 Amp |u—Z-3 gc’mm
e Average Holding Current: 170 mA g |; @ |§§ BLACK
PTS Video e Wire gauge: Minimum 20 gauge T3t 2 &0
Click or Scan \_
—_

SeETTING PTS

—— > “*Important Info** <———
Make sure to set PTS before finishing installation!
Step 1-Press the device push pad to the desired setting. (this can be fully

depressed or less than fully depressed).

Step 2- While depressing the push pad, apply power. (i.e. presenting the

credential to the reader).

Step 3- Continue to keep pad depressed, the device will beep 6 times. After the
beeps have stopped, release the pad and now the adjustment is complete.
If not to your liking repeat the three steps. That’s all there is to it.

TROUBLESHOOTING & DIAGNOSTICS

Beeps EXPLANATION SOLUTION
2 Beeps |Over Voltage > 28V unit will shut down. Check voltage & adjust to 24 V.
3 Beeps |Under Voltage < 22V unit will shut down. Check voltage & adjust to 24 V.
Failed S Verify all 3 sensor wires are installed correctly. Replace sensor if
4 Beeps |Failed Sensor problem persists by contacting office.
5 Beeps |Forced Release Device will automatically re-engage within 5 seconds.
Push pad is depressed. Device is Check to make sure the push pad is not stuck or catching on
6 Beeps L .
re-adjusting anything.
7 Beeps | Over-travel or mechanical If mechanical obstruction, remove & push pad down until
obstruction beeping stops to reset. If no obstruction, the pad may have
been pushed in too far during PTS calibration. Recalibrate
with the pad slightly out. If problem persists, verify the
magnet is within 1/4” of the sensor at the end of travel.

1

U.S. Customer Support

1-888-622-2377

Visit our website for more details
www.CommandAccess.com

Canada Customer Support

1-855-823-3002

#20316 A



